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Chloroethane
Response Ratio

Concentration Ratio

      Response = 3.767e-001 * Amt + 2.844e-002
Coef of Det (r^2) = 0.997854   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_N\methods\82N032822W.M
Calibration Table Last Updated: Tue Mar 29 09:32:37 2022
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Methyl Acetate
Response Ratio

Concentration Ratio

      Response = 6.290e-001 * Amt + 1.120e-002
Coef of Det (r^2) = 0.999365   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_N\methods\82N032822W.M
Calibration Table Last Updated: Tue Mar 29 09:32:37 2022
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Isopropyl Acetate
Response Ratio

Concentration Ratio

      Response = 7.923e-001 * Amt - 3.323e-003
Coef of Det (r^2) = 0.999748   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_N\methods\82N032822W.M
Calibration Table Last Updated: Tue Mar 29 09:32:37 2022
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2-Chloroethyl Vinyl ether
Response Ratio

Concentration Ratio

      Response = 1.754e-001 * Amt - 6.946e-002
Coef of Det (r^2) = 0.997176   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_N\methods\82N032822W.M
Calibration Table Last Updated: Tue Mar 29 09:32:37 2022
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Naphthalene
Response Ratio

Concentration Ratio

      Response = 2.733e+000 * Amt - 2.565e-001
Coef of Det (r^2) = 0.994447   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_N\methods\82N032822W.M
Calibration Table Last Updated: Tue Mar 29 09:32:37 2022
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